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R FERES | TR

= Bl B2 aEfn
Al
& 2 2 4
&80 22 28 50
Fg 11 14 12,5
ERE 2 2 4.333333
A2
E8 2 2 4
gafn 13 17 30
Fg 6.5 8.5 7.5
EEe 0.5 0.5 1666667
&afn
LIEE-2d 4 4
&gfn 35 45
iy 8.75 1125

fgEes 7583333 10.91667

ANOVA

Ed 8s BHE MS F P-{& EER{E
£ A 50 1 50 40 0.003198 7.708647
#g B 125 1 125 10 0.034100 7.708647
REVER A*B 0.5 1 0.5 04 0561438 7.708647
4P 5 4 125
£afn 68 7
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8 4.9 5.2

T3 3.7 2.2

BB 3.7 5.8

FREE 4.0 5.7

FA¥ | 3.3 5.1

z ~ &7 7] OC # 4t (operating characteristics curve ) B2, ® » 7 ¢ AQL (acceptable quality
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